CHAPTER 5

Relevant Information and Decision Making: Marketing Decisions

5-A1
(25-30 min.)

1.
A contribution format, which is similar to Exhibit 5-3, clarifies the analysis.


Without


With


Special

Effect of

Special




Order

   Special Order



Order

Units
2,000,000

150,000

2,150,000



   Total   
Per Unit
Sales
$10,000,000
$660,000
$4.401
$10,660,000
Less variable expenses:

   Manufacturing
$  3,600,000
$300,000
$2.002
$  3,900,000

   Selling & administrative
       800,000
    37,500
    .253
       837,500
   Total variable expenses
$  4,400,000
$337,500
$2.25
$  4,737,500
Contribution margin
$  5,600,000
$322,500
$2.15
$  5,922,500
Less fixed expenses:

   Manufacturing
$  2,400,000
0
0.00
$  2,400,000

   Selling & administrative
    2,500,000
             0
0.00
    2,500,000
   Total fixed expenses
$  4,900,000
             0
  0.00
$  4,900,000
Operating income
$     700,000
$322,500
$2.15
$  1,022,500
1
$660,000 ÷ 150,000 = $4.40

2
Regular unit cost = $3,600,000 ÷ 2,000,000 =
$1.80


Logo and assembly
    .20

Variable manufacturing costs
$2.00
3
Regular unit cost = $800,000 ÷ 2,000,000 =
$  .40


Less sales commissions not paid (3% of $5)
    (.15)

Regular unit cost, excluding sales commission
$  .25
2.
Operating income from selling 7.5% more units would increase by $322,500 ÷ $700,000 = 46.1%.  Note also that the average selling price on regular business was $5.00.  The full cost, including selling and administrative expenses, was $4.65.  The $4.65, plus the 20¢ per logo, less savings in commissions of 15¢ came to $4.70.  The president apparently wanted $4.70 + .08($4.70) = $4.70 + .376 = $5.076 per pen.


Most students will probably criticize the president for being too stubborn.  The cost to the company was the forgoing of $322,500 of income in order to protect the company's image and general market position.  Whether $322,500 was a wise investment in the future is a judgment that managers are paid for rendering.

5-37
(20 min.)


This solution may be obvious to most students.  However, the use of this problem in executive programs and regular classes has shown that some students need this exercise before they become convinced that the "unitization" of fixed costs can be misleading.  Moreover, in decision-making in general, the use of total rather than unit cost is nearly always less confusing.


This special order increases revenue by $390,000 and variable costs by $420,000.  Total fixed costs are unchanged at $300,000.  This $300,000 is unaffected regardless of how they are allocated to units of product.  Therefore, net income will be affected only by the changes in revenue and variable costs.

Summary of regular operations:


Per Unit
     Total

Revenue
$2.00
$600,000

Variable costs
  1.40
  420,000
Contribution margin
$  .60
$180,000

Fixed costs
  1.00
  300,000
Net income
$ -.40
$-120,000

The new business would alter the picture as follows, assuming fixed costs are "spread" on a 50/50 basis:


 Regular  
   Special   
     Total

Revenue
$600,000
$ 390,000
$ 990,000

Variable costs
  420,000
   420,000
   840,000
Contribution margin
$180,000
$  -30,000
$ 150,000

Fixed costs
  150,000
   150,000
   300,000
Net income
$  30,000
$-180,000
$-150,000

No matter how the fixed costs are spread, the total fixed costs will be $300,000 and the total net loss will be $150,000.  This is true despite the fact that fixed costs per unit have fallen from $1.00 to $.50.  The moral is:  beware of unit fixed costs.


Some instructors may want to emphasize how the unitization of fixed costs differs.  That is, the unit cost depends on the production volume chosen as the denominator.

Fixed costs per unit = 


= 


= $1



or 


= $.50


The total fixed cost is unaffected by what volume is chosen as the denominator for computing the cost per unit.


Using the graphs like those in the chapter:


Total
Total
Applied


Costs
Costs
line for



Budgetary

product



control line

costing      @$1













@$.50

$300,000
$300,000









300,000
600,000
300,000
600,000


Production volume
Production volume

5-36
(10-15 min.)

1.
The key is to focus on lost revenues and avoidable costs:


Revenues, 600 hours @ SF12 per hour

SF7,200


Avoidable costs*:



Teacher salaries
SF5,200



Supplies
     800
  6,000

Decrease in operating income

SF1,200


*
In addition to the avoidable costs shown, there might be some savings in sanitary engineering (less cleaning necessary) and depreciation (less wear and tear on equipment).  Unless these savings are more than the SF1,200 decrease in operating income, the school will be worse off financially without the after-school care program.

2.
Among the qualitative factors to consider are that the after-school care program might attract students to the regular program, it provides additional compensation to teachers, and there is a social need for such programs.
5-55
(15-20 min.)


Moderately

1.
Designer
    Priced

Items that can be displayed in 8,000 square feet
300
400

Contribution margin per item
$120
$65

Contribution margin per turnover of inventory
$36,000
$26,000

Relative number of turnovers in a given time period
2
3

Total contribution margin for a given time period
$72,000
$78,000


Students should recognize that square feet of floor space is the limiting or scarce factor.   Note that the contribution margin percentage and the contribution margin per item are greater for the designer items.  Nevertheless, the moderately priced items will generate a larger contribution margin in total.  Why?  Because more moderately priced dresses are sold in any given period of time.  The analysis above implies sales of 300 x 2 = 600 designer dresses versus 400 x 3 = 1,200 moderately priced dresses.  The designer items should be dropped.

2.
The solution in requirement 1 assumes that moderately priced items can outsell designer items 3 to 2 and that the store will be 100% full of such items.  Interdependencies between the items are ignored.  If these factors do not hold, some combination of the two items may be preferable.


Additional considerations include the investment in inventories, the number of sales personnel, the skills and training of sales personnel, and the degree of substitutability between the types of items.


This problem could also be addressed on a unit basis.  Suppose one designer dress is displayed and sold in a given time period.  How many moderately priced dresses could be sold in the same period?  First, compute how many moderately priced dresses would be displayed:


Moderate priced dresses displayed 
= 4/3 x designer dresses displayed


                   
               
= 4/3 x 1 = 1 1/3


For each dress displayed, 1 1/2 moderately priced dresses would be sold in the same time period that 1 designer dress is sold.  Why?  Because turnover of designer items is 2/3 that of moderately priced dresses, which implies that turnover of moderately priced dresses is 1 1/2 times that of designer dresses.  Therefore,


Moderate priced dresses sold   = 1 1/2 x 1 1/3 x designer dresses sold


              = 2 x designer dresses sold

Florida Fashions can use a given amount of space to sell either 1 designer dress or 2 moderately priced dresses.  Contribution margins are:


Designer dresses
Moderately priced dresses

1 x $120 = $120
2 x $65 = $130


The contribution is greater from selling 2 moderately priced dresses than from selling 1 designer dress.

5-54
(20-30 min.)    When this problem was used in an exam, it was well done by students who used contribution margin analysis or pro forma income statement methods, in total dollars.  A number of students attempted to force a decision by means of analysis of unit costs or by break-even analysis, failing to consider the effect of sales volume on profits.  A number of good solutions were marred by failure to draw specific conclusions.


Output and pricing:


Total


Volume
Price
C/M
Contribution

50,000
$24
9
$450,000


60,000
 23
8
480,000


70,000
 22
7
490,000


80,000
 21
6
480,000


The C/M per unit decreases as volume increases.


Output of 70,000 at selling price of $22 yields the largest contribution margin.  However, this is in excess of capacity.

Maximum at present capacity: 60,000 units output at $23 


= Contribution margin of $480,000


To increase capacity:

Investment


$200,000

Useful life


10 years

Cost per year ($200,000 ÷ 10)

 $20,000


By increasing capacity to 70,000 units, which is maximum C/M, the company gains an additional $10,000 in C/M but incurs an additional fixed cost of $20,000.

Conclusions:
Do not invest in new capacity.



Sell at $23.



Produce 60,000 maximum capacity now.
5-A2
(10 min.)

1.
Contribution margins:
Contribution margin ratios:



Plain  = $64 - $48 = $16
Plain  = $16 ÷ $64 = 25%



Fancy = $100 - $70 = $30
Fancy = $30 ÷ $100 = 30%

2.
Plain
Fancy

a.
Units per hour
2
1


b.
Contribution margin per unit
$16
$30



Contribution margin per hour
$32
$30



Total contribution for 20,000 hours
$640,000
$600,000

3.
For a given capacity, the criterion for maximizing profits is to obtain the greatest possible contribution to profit for each unit of the limiting or scarce factor.  Moreover, fixed costs are irrelevant unless their total is affected by the choice of products.



















PAGE  
8

_960781615.unknown

_960781692.unknown

_960781595.unknown

